Q-1

Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name: Operating Systems
Subject Code: 2TE030SC1 Branch: Diploma (CE)

Semester: 3 Date: 04/12/2018 Time: 02:30 To 05:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions:
1. A program under execution is called
A) Process B) Deadlock C) Thread D) None of the above
2. Which among the following is not function of Operating System?
A) Memory Management B) Disk Management
C) Application Management D) Virus Protection
3. Which of the Following are types of Operating Systems?
A) Batch Operating Systems  B) Network Operating Systems
C) Multithreading Operating Systems D) All of Above
4. Which one of the following are not types of Scheduling Algorithm?
A) FCFS B) SRTN C) SJF D) Ostrich Algorithm
5. Which of the following is not a process state?
A) Ready  B) Running C) New D) Request
6. Wastage of memory within the partition is known as
A) Internal fragmentation B) External fragmentation
C) Segmentation D) Paging
7. Bringing a page into memory only when it is needed is known as :
A) Deadlock B) Page Fault C) Demand Paging D) Swapping
8.  Which of the following is a condition for deadlock?
A) Mutual Exclusion B) Circular Wait
C) No Preemption D) All of the above
9. CPU can execute only one process at a time.
A) True B) False
10. What is the use of pwd command in UNIX?

A) Print Working Directory. B) Change Working Directory.
C) Removes File. D) Create New Directory.
11. A Page fault occurs when
A) The deadlock occurs B) The segmentation starts

B) The page is found in memory D) The page is not found in memory
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Which among the following is not an Operating System?
A) Windows 7 B) Windows 10 C) LINUX D) MS WORD
Time Quantum is used in

A) FCFS Algo B) SJF Algo. C) Round Robin Algo. D) All of above
When a logic bomb is activated by a time-related event, it is known as a:
A) Virus B) Time Bomb C) Trap Door D) Trojan Horse

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

u.1

a)
b)

1.

Attempt all questions

List types of operating systems and explain any two in detail.
With the help of diagram explain process states.

Attempt all questions

What is Deadlock? List & Explain various conditions for deadlock.

Write a note on semaphore.

Attempt all questions

Explain SJF (Shortest Job First) scheduling in detail.
Explain Round Robin Scheduling in detail.

Write a note on firewall.

Attempt all questions

Explain different types of directory structure in OS.
Explain File access methods.

Attempt all questions

Explain Virtual memory in detail.

Write a shell script to find factorial of a given number.
Write shell script to find maximum out of thee number.
Attempt all questions

List and explain all algorithms to select free partition of memory
Explain memory management with fixed partition.
Attempt all questions

Explain Paging in detail with figure.

Explain following.

A) Trap Door B) Trojan Horse

o{lAoll YA oll ol L.

AsY Y2 UTREAL UIUHA sSAHL WA B,
A) Process B) Deadlock C) Thread D) None of the above
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R, ollA et Wl 53 Operating System of $52lot otell?
B) Memory Management B) Disk Management

C) Application Management D) Virus Protection

3. o{lA W Wl 52 /5U Operating Systems oll USIR & ?
A) Batch Operating Systems B) Network Operating Systems
C) Multithreading Operating Systems D) All of Above

¥.  o{lA A Wl 50 Scheduling Algorithm oll Us(? o1l ?

A) FCFS B) SRTN C) SJF D) Ostrich Algorithm
W o{lA AU HEl 50 process state otedl?
B) Ready B) Running C) New D) Request
5. wédlaet ofl 2ieR Ul AHI ol coUsa sdAlHL AUA B.
B) Internal fragmentation B) External fragmentation
C) Segmentation D) Paging
9. U ol AHIHL AR 3R 8lA R cdeS ulaals(l utudl sdaHiUA 8.

B) Deadlock B) Page Fault C) Demand Paging D) Swapping
¢. oA el 58 deadlock aaw He{l $slatet B2
B) Mutual Exclusion B) Circular Wait C) No Preemption D) All of the above
¢. ALy As A1 As o DA Alssye 530 w3 B . WY 3 wlg.
B) TRUE B) FALSE
0. UNIX Hl pwd SHLS ol HIS dURjA & ?
A) Print Working Directory. B) Change Working Directory.
C) Removes File. D) Create New Directory.
4. Page fault IR AlA B >UR
C) The deadlock occurs B) The segmentation starts
D) The page is found in memory D) The page is not found in memory
1. oflA UAAH 58 Operating System olell ?
A) Windows 7 B) Windows 10 C) LINUX D) MS WORD
13. Time Quantum Al AR & ?
B) FCFS Algo B) SJF Algo. C) Round Robin Algo. D) All of above
¥, AR AWs ool ol 2lH IAZS e A Asdlde sRaHl WA B AR Al
sdalMi AUA B
B) Virus B) Time Bomb C) Trap Door D) Trojan Horse
o(lActtritell SSURL ¥ Usll oll St AL,
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ol WAL €25 Ul oll wcllol AVl

Operating system oll Usll cull. 51&5 Ul 2 Yst [Qrctirel unostal.
gl oll Heeedl process otl QAU state UHAA.

oA WAL €25 Usll ol wcllol A,

Deadlock ] 8? Deadlock &l M2 ol (A[QAYU condition UHSLA.
Semaphore (AcRell AL

o(lA WAL €25 Usll ol Wcllol Al

SJF (Shortest Job First) AN UH Gele0L Ul AMestal.

AGs Aollot WA UH Geleel AUl dUHA.
Firewall UR gsolltd GWL.

o(lA WAL €25 Ul oll wcllol AVl

Directory structure ol Usll (Qactell AxesA.

File access scll H(2o{l (AlAU methods UM

o(lA WAL €25 Usll ol wcllol A,

Virtual Memory (QactiRell Aol

WA 1102 oll ¥s2l3lalcd UM shell script AWl
WAA 3 o3t 1l WL o102 WUAHS shell script AU
ol WAL €25 Ul oll wellol AVl

A | gl wlatet U2 oll il AR UH AUl A QR AHetAl.

(3sat widlatet ol Heeel AU AN UMl
ol AL €35 Ul oll Scllol Avl.

ulglAoll Heeell Paging (Qrcirell Amendl.
(QrctiRell umenAl.

W) Trap Door 1) Trojan Horse
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